IR MRS 1 ff

iHAERL : RMB ( 7T/KG)

RSB 5 [ESENIS] [EN=: [FEHN=]
_ c EES 48 HE 45 BE 45ER
B LY 1kg > 1kg 1kg > 1kg 1kg > 1kg
B/ & P X i,
| | 12 2 12 2 - -
=12 T2, L AP L, RS 16 2 13 2 - -
B | BEILEA AR M WSk B L TR, i, B - - 13 2 13 2
=12 LIRS R =T - - 13 2 - -
=12 IR $8PH - - - - 13 2
BEXig
RS ™5 [FEN= [FESN=] [ES S|
_ c HE 43 EES GE @ BHE U=z By
i B9 1kg > 1kg 1kg >1kg = 1kg (1,30) kg >30kg
BEM /AN - - 16 6 - - -
i i : T2 s : :
iEhEs RN 20 8 20 8 - - -
Hithim - - 20 8 - - -
iIPG. #F. B - - 22 8 18 6 6
=M. =8 - - 23 12 18 6 6
L - - 23 12 18 8 8
! 25 13 23 13 18 9 9
ST FAER, o83 S L2, BN 25 13 23 13 18 9 9
HARA - - 23 13 18 9 9
ST BN, AN, B2, TR B3, BB | 25 13 23 13 18 9 9
‘ A5, Ik, &5 fHL - - 23 13 18 9 9
Bk M) ||, =58, - - 23 13 18 6 6
Itz | 25 14 23 14 18 7 7
K&, 177 Bk, b, L7, LUZR - - 23 14 18 7 7
Hf 7B 58 FWERER) - - 23 18 18 9 9
Py BRITAE IR ML BB L SN EL BT - - 23 18 18 9 9
FE IR & ER - - 25 20 20 10 10
=BT - - 25 20 20 10 10
o - - 28 25 22 12 12
PR - - 28 25 - - -

1IR=EEH30kg RLALIEZE=BINEE ; EHTHEERENS A NDNEEE EAREENNNEEFE BETIRE =M Z RN
WiTEa
2. BB #ESE: BUAREESIREERBNEAE ; RIEEMSEENS (IATA) B AHREE=1K(Ccm)x B (cm) x5
(cm)+ 32 HOERE ;

1488 IR=ERIE/RE/RB : B, BREAREFXIER ESZEMRE12000 , HAXIETERINEEH6000 ; (ZFXiGE S mEEE
& DN E s ) | |ERES BT EE)IRERE : BiEE0912000;
3. HEBEEHAFIN: /NF100kg B/NEIAREO.5kg B9, 3= F—°0.5kg; 100kg R LA L, PO NEVEREY ;
4. P BiEBAEIRRKHBENNZ. [RisithXEHINZE, LA S4B 2 /IR s (R B W N N2 &~ AR ;
5. I mAKESRTIEREE |, iR EERNE95338 ;
6. IERITIR B HERHMERULN BR. RIERS RIS A FEIZ A




